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Mark the best answer. 

I.	 2 crayons are inside 
the box. 
5 crayons are outside 
the box. 
How many crayons 
are there in all? 

® 2
 

® 3
 

© 5
 

@ 7
 

3.	 How many rabbits are 
there in all? 

® 10 

® 9 

© 6 

@ 3 

Multiple-Choice Test 

2. Which shows parts of 8? 

® OOC)OOOOO 

® 000000000 

© OOC 0000 

@ OO()OOOOOO 

4.	 Ted drew 3 trees. 
Then he drew 3 more. 
How many trees did 
he draw in all? 
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® 3-3 = 0
 

® 3+0=3
 

© 3+3=6
 

@ 3+4=7
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5. 6 birds are in 01 tree.
 
2 more birds join them.
 
How many birds
 
are there now?
 

® 6 + 6 = 112 

® 6+2=8 

© 2+2=q 

@ 6-2=q 

.......................... ..................................................................... .......................................... - .
 

6. Which is the
 
missing addend? ~
 
_+ I =7 [§] 
1+_=7 

® 8
 

® 7
 

© 6
 

@ 5
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